
� 1 of 5

GT1175 U-19 Electric Lock Retrofit Kit Installation Manual 
P/N C-00299  Rev 2-15-18

Nabco Entrances Inc. S82 W18717 Gemini Drive Muskego, Wisconsin 53150
Phone:  (877) 622-2694   Fax:  (888) 679-3319   www.nabcoentrances.com

NABCO hours of Operation:  Monday to Friday  8:00 a.m.- 4:30 p.m. (Central Time) 

Table of Contents

SECTION 1: RETROFIT THE BELT CLIP. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 3

SECTION 2: INSTALL THE ELECTRIC LOCK. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 4

SECTION 3: CHANGE HANDING OF SLIDE DOOR . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 4

SECTION 4: U19 WITH FAIL SECURE OR FAIL SAFE ELECTRIC LOCK. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 5

SERVICE PARTS: U-19 ELECTRIC LOCK RETROFIT KIT. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 6

Associated Manuals Part Numbers: ”1175 Electrical Installation Manual U19 & Earlier” Rev 5-18-04 (P/N 15-10596)

•	 Turn OFF all power to the Automatic Door if a Safety System is not working. 

•	 Instruct the Owner to keep all power turned OFF until corrective action can be achieved 
by a NABCO trained technician. Failure to follow these practices may result in serious 
consequences.

•	 NEVER leave a Door operating without all Safety detection systems operational.

WARNING



 2 of 5�

GT1175 U-19 Electric Lock Retrofit Kit Quick Setup Parts Guide� www.NabcoEntrances.com

P/N C-00299� Rev 2-15-18

SECTION 1: Retrofit the Belt Clip
Note: Electric Locks can not prevent Breakout. If preventing Breakout is deemed necessary, panic hardware must be fitted to 

the Door Panels.
1. Remove (2) 1/4-20 x 1 inch Hex Head screws used to secure the Belt Clip to the Belt Bracket. Save the spacers, screws and 

lock washers for reinstallation.
a.	 Ensure the Belt Clip stays intact with the Belt, so the Belt does not lose Belt Tension.  

2. Remove (2) 1/4-20 x 3/4 inch Hex Head screws used to secure the Belt Bracket to the Carrier. Save screws for reinstallation. 
3. Obtain the Belt Clip Assembly provided within the Electric Lock Retrofit Kit.
4. Review the Belt Clip Assembly to ensure the secured position will match Figure 1 and Figure 2.  

a.	 If necessary rotate the Latch so the Flat Side of Latch faces the Terminal Strip located on the Lock Assembly.

DN 0743

Flat Side of Latch

Terminal StripTerminal Strip

Flat Side of Latch

Figure 1 Proper Latch Orientation

5. Secure the Belt Bracket to the Belt Clip with (2) 1/4-20 x 1 inch Hex Head screws, lock washers, and spacers that were saved 
for reinstallation. Do not overtighten the screws.
a.	 Ensure the Belt Clip is in the correct position (Top vs Bottom) as shown in Figure 2. 

6. Secure the Belt Bracket to the Carrier with (2) 1/4-20 x 3/4 inch Hex Head screws that were saved for reinstallation. Do not 
overtighten the screws.

Belt Clip Bo� om
Terminal Strip

Belt Bracket Relay

Belt Clip Top
Terminal Strip

Belt BracketRelay

DN 0534

SINGLE SLIDE DOOR; RHFS, LHFO

BI�PART SLIDE DOOR

Motor/Operator U-19 & Earlier

Motor/OperatorU-19 & Earlier

Motor/Operator U-19 & Earlier

Belt Clip Top

Belt Clip Top

11 11/16

11 11/16

8 5/16

SINGLE SLIDE DOOR; LHFS, RHFO

Figure 2 Belt Clip Location in Full Close Position



�  3 of 5

www.NabcoEntrances.com� GT1175 U-19 Electric Lock Retrofit Kit Quick Setup Parts Guide

Rev 2-15-18� P/N C-00299

SECTION 2: Install the Electric Lock
1. Insert (2) 3/8 -16 x 3/4 inch T-Bolts into the Channel located inside Header and turn clockwise so they do not fall out.

DN 0738

Insert T-Bolt
into Channel

Turn T-Bolt Clockwise 
to Lock into Channel
Figure 3 Insert Socket Head Cap Screws into Channel

2. Obtain the Electric Lock provided within the Electric Lock Retrofit Kit.
3. Place the Electric Lock over the (2) 3/8-16 x 3/4 inch T-Bolts.  

a.	 Ensure the Terminal Strip is facing the Pivot side of Slide Door. 
4. Loosely secure the Electric Lock to the T-Bolts with (2) 3/8-16 Whizlock nuts.
5. Position the Electric Lock so the Strike is directly behind the Latch when the Slide door is in the Fully Closed Position. Please 

see Figure 4.
a.	 Ensure there is a slight gap between the Strike Wall and Flat of Latch.

DN 0642

Slight Gap
(Between Strike Wall and Flat of
Latch in Full Close Posi� on)

PIVOT SIDE OF DOOR

Strike Wall
Strike

Latch

Figure 4 Ensure Terminal Strip is Facing Pivot Side of Slide Door

6. Tighten (2) 3/8-16 Whizlock nuts to secure the Electric Lock to the Channel.
7. Wire the Electric Lock. Please see Section 4.

SECTION 3: Change Handing of Slide Door
Note: Handing of the Slide Door is only necessary if the Slide Door: Opens when it should Close; or Closes when it should Open.
1. Obtain the Handing Harness provided within the Parts Bag.
2. Go to the Motor Harness that is connected to the Motor and the U-19 Microprocessor Control.
3. Separate the Motor Harness to connect the Handing Harness between the connectors.

Motor Connector (6 pin)

Power Connector (4 pin)

Size: 5.2 x 20mm
Ra�ng: 125V, 5A

Fuse Inside

No.

COLORSYMBOLNO.

12
11
10
9
8
7
6
5
4
3
2
1

OUT -
OUT +
BA
SQ
62
M1
M0
H
6 B
61
7
9DC12V

Gray
Violet
Blue
Yellow
Orange
Orange
Orange
Green
White
Black
Red
Brown

COLORNO.

6
5
4
3
2
1

Yellow
Black
Blue
Brown
Orange
Red

USE

Encoder B Phase
Encoder Ground
Motor U Phase
Encoder A Phase
Encoder 12 VDC
Motor V Phase

USECOLORNO.

4
3
2
1

Black
White

Not Used
115 VAC Hot
115 VAC Common
Not Used

WARNING

type and ra�ng.
with a fuse of the  same
against fire, replace only
For con�nued protec�on

CAUTION

DN 0749

Handing Harness

Motor Harness & Plug
Microprocessor ControlMotor

Figure 5 Change Handing of Slide Door



 4 of 5�

GT1175 U-19 Electric Lock Retrofit Kit Quick Setup Parts Guide� www.NabcoEntrances.com

P/N C-00299� Rev 2-15-18

SECTION 4: U19 with Fail Secure or Fail Safe Electric Lock
Note: Electric Lock only works in One Way mode or Night Mode.

DN
 0

69
4

VI
O

GR
Y

W
HT

BL
K

N
O

TE
S

:
1.

 U
N

D
E

R
 "S

P
E

C
IA

L 
FU

N
C

TI
O

N
S

" S
E

T 
"A

U
X

. O
U

TP
U

T"
 T

O
 "0

".
2.

 S
E

T 
"O

U
TP

U
T 

TI
M

E
R

" T
O

 "3
".

TO
 1

20
VA

C

LO
CK

U
-S

ER
IE

S 
CO

N
TR

O
L

(U
19

 O
R 

EA
RL

IE
R)

RE
LA

Y

W
ire

 N
ut

10
-3

12
5

BR
O

W
N

  6
0"

VI
O

LE
T 

60
" 

O
U

T+
 

(V
IO

LE
T)

O
U

T-
 

(G
RA

Y)

7 
(R

ED
)

9D
C1

2V
(B

RO
W

N
)

GR
EY

 1
0"

VI
O

LE
T 

10
" 

HA
N

DI
N

G 
HA

RN
ES

S
(U

se
d 

on
ly

 w
he

n 
N

ec
es

sa
ry

)
PT

. N
O

. 1
1-

92
08

HA
RN

ES
S 

M
OT

O
R

1 6

11
0V

HA
N

DY
 T

ER
M

IN
AL

 (6
P)

SE
N

SO
R 

(1
2P

)

1.
Pl

ea
se

 a
dj

us
t t

hi
s o

pe
ra

to
r a

s p
er

 in
st

ru
c�

on
 m

an
ua

l.
2.

Tu
rn

 th
e 

po
w

er
 o

ff,
 b

ef
or

e 
op

en
in

g 
th

e 
bo

x.
3.

Do
n'

t o
pe

n 
th

is 
bo

x 
ex

ce
pt

 fo
r r

ep
la

ci
ng

 fu
se

.
   

O
th

er
w

ise
, t

he
 w

ar
ra

nt
y 

w
ill

 b
e 

te
rm

in
at

ed
.

4.
Re

pa
ir 

of
 th

is 
un

it 
ex

ce
pt

 b
y 

La
ns

on
 In

du
st

rie
s,

 In
c.

   
m

ay
 c

au
se

 so
�w

ar
e 

an
d 

ha
rd

w
ar

e 
m

al
fu

nc
�o

n.

U
SE

U
SE

 [S
LI

DE
R/

SW
IN

GE
R]

Fo
r c

on
�n

ue
d 

pr
ot

ec
�o

n
ag

ai
ns

t fi
re

, r
ep

la
ce

 o
nl

y
w

ith
 sa

m
e 

ty
pe

 a
nd

 ra
�n

g
of

 fu
se

.W
A

R
N

IN
G

FU
SE

  I
N

SI
DE

RA
TI

N
G:

12
5V

,4
A

SI
ZE

:5
.2

 x
 2

0m
m

CO
LO

R
BR

O
W

N
RE

D
BL

AC
K

W
HI

TE
GR

EE
N

O
RA

N
GE

O
RA

N
GE

O
RA

N
GE

YE
LL

O
W

BL
U

E
VI

O
LE

T
GR

AY

7 61 6B9D
C1

2V
SY

M
BO

L

H M
0

M
1

62 BA O
U

T 
+

O
U

T 
-

SQ

1 2 3 4N
O

.

5 6 7 8 9 10 11 12

PO
W

ER
 S

O
U

RC
E 

(4
P)

O
PE

RA
TO

R 
(6

P)

EM
PT

Y

11
5V

AC
 H

O
T

EM
PT

Y

11
5V

AC
 C

O
M

M
O

N
W

HI
TE

BL
AC

K

1 2 3 4

CO
LO

R
N

O
.

M
OT

O
R 

V 
PH

AS
E

EN
CO

DE
R 

12
VD

C
EN

CO
DE

R 
A 

PH
AS

E
M

OT
O

R 
U

 P
HA

SE
EN

CO
DE

R 
GN

D
EN

CO
DE

R 
B 

PH
AS

E

O
RA

N
GE

RE
D

BR
O

W
N

YE
LL

O
W

CO
LO

R

BL
U

E
BL

AC
K

1 2 3 4 5 6N
O

.

G
YR

O
 T

EC
H

EN
TR

A
N

CE
S

LA
N

SO
N

 IN
D

U
ST

RI
ES

 IN
C.

CA
U

TI
O

N

N
o.

M
IC

RO
PR

O
CE

SS
O

R 
CO

N
TR

O
LL

ER
PT

. N
O

. 2
4-

89
01

&
 P

LU
G

M
OT

O
R BR

O
W

N
  6

0"

VI
O

LE
T 

60
" 

GR
EY

 1
0"

VI
O

LE
T 

10
" 

FA
IL

 S
AF

E 
RE

LA
Y 

W
IR

IN
G

P/
N

 2
4-

14
59

4-
02

BR
O

W
N

  6
0"

VI
O

LE
T 

60
" 

GR
EY

 1
0"

VI
O

LE
T 

10
" 

FA
IL

 S
EC

U
RE

 R
EL

AY
 W

IR
IN

G
P/

N
 2

4-
14

59
4-

01



�  5 of 5

www.NabcoEntrances.com� GT1175 U-19 Electric Lock Retrofit Kit Quick Setup Parts Guide

Rev 2-15-18� P/N C-00299

Header
Item Part Finish/Sizes/Notes Description

1 M-01190 HARNESS,HANDING,MICROPROCESSOR
2 A-00686 T-BOLT, 3/8”-16 X .75 LG
3 A-00342 Fail Secure LOCK,ELECTRIC,FAIL SECURE, 1175

A-00341 Fail Safe LOCK,ELECTRIC,FAIL SAFE, 1175
4 A-00780 Fail Secure RELAY ASM, E, LOCK-U19, FAIL SECURE

A-00781 Fail Safe RELAY ASM, E, LOCK-U19, FAIL SAFE
5 T-00025 NUT,WHIZLOCK, 3/8-16,ZINC
6 A-00343 BRKT, BELT, ELECTRIC LOCK, RHFS, LHFO, BP
7 M-00392 SPACER, BELT CLIP
8 M-00391 CLIP,BELT
9 T-00087 WASHER, LOCK, EXT, 1/4”, ZINC

10 T-00139 HHCS, 1/4-20 X 1.000L, GR5, ZINC
11 T-00119 HWHMS, 1/4-20 X 0.750L., TRILOBE, ZINC

DN 0687

1

2

3

4

5

6

7
8

9
10

11

Front
Back

Service Parts: U-19 ELECTRIC LOCK RETROFIT KIT
P/N 21-11658-03 Fail Secure 
P/N 21-11658-04 Fail Safe

1
2
3

4

5
6
7
8
9

10
11


